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  Solve the following equations:

 
                        
                  63 + 20 =
                   
                  27 + 40 =
[image: ]                  
                  14 + 50 = 





                        
                  71 + 30 =
                   
                  34 + 40 =
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                  82 + 10 = 
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                  56 + 30 =
                   
                  19 + 20 = 
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                  44 + 40 = 





                        
                  33 + 10 =
                   
                  18 + 50 =
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[bookmark: _GoBack]                  53 + 30 = 
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